BECK

THIS DOCUMENT IS A COPY
AND IS NOT THE SOURCE
DOCUMENT. INFORMATION IS

11 3/8 MAX., —= SUBJECT TO CHANGE

WITHOUT NOTICE. THE

[149] [290] INFORMATION CONTAINED

- 12 1/4 12 3/4 - ) FEREIN 15 COPYRIGHTED BY
[31” [524] ALLOW 3 [76] ,

INC. CHANGES TO THE

ALLOW 6" [152] - R T I o
COVER, TERMINAL BLOCK

FOR REMOVAL EXTERNAL WIRING 4 3/4 ) “DRAWING 15 REQUIRED.

[121] T N.P.T. CONDUIT

A
!
A

5 7/8 MAX.

A
|

SIGNAL CONNECTION

COVER, ELECTRONIC—
SIGNAL RECEIVER

_—HANDSWITCH

17 N.P.T. CONDUIT
POWER CONNECTION

)i
J:
- K// \\\\\\

= e |l :

i} —
15 5/8 | N O
1397 I T —
iy _
ey = | |
55/8 | A = 6"
[143] 1 ; : [153]
L HANDWHEEL
! ! l i s l
COVER, POSITION A |

SENSING DEVICES

9 1/4 [235] R. MIN.

RECOMMENDED CRANKARM
SWING CLEARANCE

8 1/4 [210] R. MIN.
RECOMMENDED LEVER
ARM SWING CLEARANCE

VALVE
II ”A” a
1 ~ i
AR : ¥
'        :   CENTERLINE /|
> oo OF SHAFTS
Y _ _ _ _ _ _
f  . . f' E_ |
NOTES: N
ALL DIMENSIONS ARE TYPICAL. Lol
F SPECIFIC DIMENSIONS ARE REQUIRED, |~ [ o | e | ey [70]
PLEASE CONTACT A FACTORY REPRESENTATIVE g '

[ ]

CRANK ARM SCREW 5/8—18 240 325
SCREW TORQUES FOR MOUNTING HARDWARE CRANK PIN SCREW/STUD 3/4-16 200 107
WILL BE SUPPLIED WITH SPECIFIC VMS. CRANK PIN SCREW 3/4—16 300 407
ROD END LOCK NUT 5/8—18 65 88 S7E.
BODY SCREWS 3/8—16 20 27 [j
ALL DIMENSIONS ARE IN INCHES AND [MM] UNLESS OTHERWISE SPECIFIED. BODY SCREWS 1/2-13 50 68
THREADS AND TAPPED HOLES ARE SPECIFIED AS UNIFIED THREAD SIZES ONLY. EA%_VFEF; SS%F;EEVV\CSS 51//146_—2108 160 184 HAROLD BECK & SONS INC
CONDUIT PIPE THREADS PER AMERICAN NATIONAL STAN DARD GEAR MODULE SCREWS 5/16_18 10 14 — NEWTOWN INDUSTRIAL COMMONS NEWTOWN, PENNSYLVANIA 18940 USA
OUTLINE DIMENSIONS FOR UNITIZED
TAPER PIPE THREADS (N.P.T.) ASSEMBLIES OF BECK 11-300 DRIVES
& TYPICAL BUTTERFLY & BALL VALVES
VALVE SIZE 3 4 6 8 10 12 14 16 18 20 24 30 36 _€Z§> {::]_ SR SHE [ oG 0 REv
Y 6-3/8 | 6-3/8 77 11 1/2 111 1/2 111 1/2112 1/2 |14 1/2 [14=1/2|16—=1/2|16—1/2|16=1/2]18=1/2 D ANGTe crecreD, — 18-0300-020 | G
(1621 | [162] | [178] | [292] | [292] | [292] | [318] | [368] | [368] | [419] | [419] | [419] | [470] 18.0300.00 PROJECTION APPROVED: SHEET NO. 1 OF )
- -020




